

$$\begin{aligned} n \rightarrow 1^- &\rightarrow f(n) = -a \\ n \rightarrow 1^+ &\rightarrow f(n) = 2 \Rightarrow -a = 2 \Rightarrow a = -2 \\ &\left[\frac{-2}{s-1} \right] \end{aligned}$$

۱

$$\begin{aligned} &\rightarrow \left[2 \left(\frac{1}{s-1} \right) - 1 \right] s-1 \end{aligned}$$

۲

$$\begin{aligned} n \rightarrow \frac{1}{2}^- &\rightarrow \lim_{n \rightarrow \frac{1}{2}^-} \left[-1 - \left(-\frac{1}{s} \right) \right] s-1 \\ n \rightarrow \frac{1}{2}^+ &\rightarrow \lim_{n \rightarrow \frac{1}{2}^+} \left[-1 - \left(-\frac{1}{s} \right) \right] s-1 \end{aligned} \left. \vphantom{\lim} \right\} \Rightarrow \boxed{-1}$$

۳

$$\lim_{n \rightarrow \left(\frac{1}{2} \right)^-} \frac{1 \cdot n - 2 + \left[\frac{1}{s} \right]}{19n - \left[\frac{1}{s} \right]} = \frac{1 \cdot n - 2 + 12}{19n + 9} = \frac{1 \cdot n + 10}{19n + 9} = \frac{12}{19}$$

۴

$$\lim_{n \rightarrow 1^+} \frac{\zeta^2 \pi_n}{\zeta \pi_n + 1} = 1 + \zeta \pi_n s + 2$$

$$\frac{\zeta^2 \pi_n}{\zeta \pi_n + 1} \times \frac{\zeta \pi_n - 1}{\zeta \pi_n - 1} = \frac{\zeta^2 \pi_n (\zeta \pi_n - 1)}{-\zeta^2 \pi_n} = 1 - \zeta \pi_n s + 2$$

۵

$$\frac{\sqrt{r_{m+r}} - \sqrt{r_{m+f}}}{1 + \sqrt{r_m}} \times \frac{1 - \sqrt{r_m} + \sqrt{r_{m+f}}}{1 - \sqrt{r_m} + \sqrt{r_m}} \times \frac{\sqrt{r_{m+r}} + \sqrt{r_{m+f}}}{\sqrt{r_{m+r}} + \sqrt{r_{m+f}}} = \frac{r_{m+r} - r_{m+f}}{(1+r)(\sqrt{r_{m+r}} + \sqrt{r_{m+f}})}$$

$$\frac{-(a+r)}{(1+r)(\sqrt{r_{m+r}} + \sqrt{r_{m+f}})} = \frac{-1}{r} = \frac{-1}{r}$$

6

7

8

9

10